KBLARNIPI+AT—

sus| XUV D Ty b

A72V2) | EVELLING FOOTS

° AT VLB TMREICBNTNET,

° RUEHHZ0° EIRD TRETHELV LR THKFEER
KCEET, (K-1277-A)

o AN AE /Y MIDT-OBFRIECBNTVE T,

o Corrosion-resistant, stainless steel construction.
® The screw section can move through 30°, thus maintaining
the horizontal even on a sloping floor. (K-1277-A)
* The wide, padded floor-contact area provides excellent
M_ vibration-proofing.

ot E:YvIh/ATVUREEESUS304)
i B8/ AT VL Rtk (SUS304)
| Ny R /&3 L (NBR)
| o REH L L IVFIE
iy o EFAERRE | —10~+60C Fr25-
*i off B &:Fvh
9 EEN o HBRE - EERNA - TR o
| 5 Bl 85 - -SHsEa S0 JE_;“
! © Material: Shaft: Stainless steel rod (SUS304) F—LI
‘ Foot: Stainless steel plate (SUS304)
‘ Specifi- Pad: Synthetic rubber (NBR)
K-1276-A-20-200 K-1276-A-16-150 ‘ 1{el51  Finish: Barrel polishing -
EEE 5 ® Ambient temperature: -10°C to +60°C Ssjg’
i \ ™ © Accessories: Nut
7 N SYellajifed| ® Semi-conductor equipment, medical SR
/¥y K (NBR) ¢80 equipment, machine tools b=
Pad
l:sns Lk L M HEEEN/AE [HREEQ| JI-F
Product No. v Recommend load Mass Code
183]150| 10 | M16X2.0 7,840 440 31533
233/200| 10 | M16X2.0 7,840 505 31534
186|150| 13 | M20X2.5 9,800 615 31535
236(200| 13 | M20X2.5 9,800 720 31536
@ ROHS10EDXNGE A : RoHS10EBRICHISTEETT,
" PP

R Example of application

iy

W
ny
AL
W HE
|
|

Lo

L1
o=

. —~
N \\“
=

sung
LN

| il
/¥y K (NBR) ¢80

25 |Ls

K-1277-A-20-100 K-1277-A-20-130

.;3.45 Llkle]l ™ EEEEN/AE [HRHE(Q| JI-N
Product No. v Recommend load Mass Code
135/100| 10 |M16X2.0 7,840 380 31541
165[130| 10 |M16X2.0 7,840 425 31542
215(/180| 10 |M16X2.0 7,840 490 31543
138/100| 13 | M20X2.5 9,800 515 31544
168130| 13 | M20X2.5 9,800 580 31546
218/180| 13 |M20X2.5 9,800 685 31545

@ RoHS10EDMGE A :RoHS10EERICHISTRETT,



